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THE INSTITUTE OF BANKERS, BANGLADESH (IBB)
98th Banking Professional Examination, 2024
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Credit Operations and Management (COM)

Subject Code:} 2 |1 0 | 2

Time—3 hours
Full marks—100
-Pass marks—45

[N.B. The figures in the right margin indicate full marks. Answer any five
questions. |

Marks
(a) What is the primary relationship between a banker and his 7

customer? What additional obligations come with this special
relationship?

(b) What is Cash Credit? Briefly describe the different mode of cash 6
~ credit.

(c) Why credit planning is important for b'anks‘? What factors a bank 7
should consider effective credit planning? _

(a) Briefly describe the ‘borr_'owef seIectiqn process. .' _ 9
(b) What are the uses of Internal Credit Risk Rating System? - 5
(c) What are the stages.of'credif investigation? | | 8
(a) What are the causes of standalone Credit Risk? s 6
(b) Describe the general steps to manage Credit Risk in a bank. NGl
(c) What are the different aspects of credit appraisal? | 8
(a) Why the insurance coverage of the security is important? 6
(b) Describe the significance of timely loan recovery? 6
(¢) What are thc._ ﬂon—legal measures of recovering Non-Performing 8
Loan (NPL)?
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5. (a) What do you mean by Break-Even Point? Show it graphically. 5
(b) What are the limitations of Cost-Volume-Profit (CVP) analysis? 5

(¢) ABC company’s projected information is as follows : 10

Amount in Taka
Total Per Unit

Sales . : 2,00,000 20
Variable cost ' 1,20,000 .
Fixed cost 64,000 o

You are requested to :
(i) Compute the Break-Even point in units.
(i) How many units must be sold to earn a profit of Taka 30,000?
(iii) Compute the Contribution Margin and Contribution Margin Ratio.

(iv) Compute the additional profit that ABC would earn if the
sales were Taka 25,000 more.

6. (a) Describe the different ways to financing a project. 6
(b) What is the role of credit management in Banks? 8
(c) ‘What are the impacts of provision shortfall on Bank’s financial 6
health?
7. (a) What are the purposes of credit investigation? 7
(b) Distinguish between registered Mortgage and Equitable 6
Mortgage. .
(c) What are the advantages of Syndicated Financing? y
8. (a) What are the elements of a good lease document? 7
(b) What is difference between pledge and Hypothecation? 6
(c) What are the advantages of Hire-Purchase financing? 7
9. (a) What is working capital? "2
(b) What are the factors that affect the requirement of working 3
capital?
(c) A Proforma Cost Sheet of XYZ Company provides the following data: 15
Cost (Per unit) : Taka
Raw materials ' 52-00
Direct labor | 19-50
Overheads 39-00
Total cost (per unit) ‘ 110-50
Profit 19:50

Selling price 130-00



Marks

The following is the additional information :

Average Raw Material in stock : One Month

Average Material in process : Half a Month

Credit allowed by suppliers : One Month

Credit allowed to debtors : Two Months

Time lag in payment of wages : One and a half weeks

Time lag in payment of overheads : One Month

One-fourth of sales are on cash basis.
Cash balance is expected to be Taka 1,20,000.

You are required to prepare a statement showing the Working
Capital needed to finance a level of activity of 70,000 units of output.
You may assume that production is carried on evenly throughout the
year and wages and overheads accrue similarly.

10. Write short notes (any five) : 4x5=20
(a) Lender of Last Resort '
(b) Open Market Operation
(c) Default Loan
(d) Liquidity Ratio
(e) Off-shore Banking
(/) Margin of Safety
(g) Expected Loan Loss
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